Expanding Triple Brackets Exam Practice

Q1. Expand and simplify (x + 2)(x + 5)(x + 1)
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(2 marks)

Answer:

Q2. Expand and simplify (x + 7)(x — 2)(x + 3)
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Answer-:
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Q3. Expand and simplify (2x + 6)(x — 5)(x — 3)
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Q4. Expand and simplify Bx —1)(4 — x)(4 + x)
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Q5. Expand and simplify (x + 2)(x — 5)°
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Q6. Expand and simplify 2(x + 4)?(2x — 3)
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Q7. Expand and simplify (x — 3)(x + 3)(4x — 7)
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Q8. Expand and simplify (x +2) (x +3)(x+5) + (x + 1) (x + 4)
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Q9. Let a be a fixed number. Expand and simplify:
(x—a)(x+3)(x+ 2)
You must express your answer in the form px3 + gx* + rx + s where
p,q,r and s are given in terms of a.
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Q10. Let b be a fixed number. Expand and simplify:
(x —=5)(2x +5)(bx — 1)
You must express your answer in the form px® + gx* + rx + s where
p,q,r and s are given in terms of b.
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Q11. Show that 3x +2) (x +3)(2x — 5) = 6x> + 7x% — 43x — 30

— éw{z)(’z,xl\,—(,\( —Sx —-’)S)

L. ke
= [y o O S U S ey 12 10 Yo

e

= (I 4300

Answer:

(4 marks)

Q12. Show that 2x —7) (3x +8)(2x — 9) = 12x> — 64x°? — 67x + 504
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(4 marks)
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Applied Mixed Practice Problems
Q13. Here is a cuboid:
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An expression for the volume of the cuboid 1s of the form,
ax3 + bx* + cx + d where a, b, c and d are integers. Find the values

Ofa,b,c and d.
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(3 marks)
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Q14. A student is asked to expand (x —5) (2x + 8)(3x — 9).
His answer is 6x3 — 20x* — 102x + 360.
He is unsure about the x? term, but knows from his teacher that the
other terms are correct. Check this term, and correct it if necessary.
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Answer: — 24X

(3 marks)

Q15. A sweets manufacturer produces chocolates in the shape of a cone.

The volume of chocolate required to make 30 sweets 1s given by

w(30x3 + 350x% + 1250x + 1250).
Find r giving your answer 1n terms of ax + b where a and b are

positive integers to be found.

- V= 3Tk s o

16 % ‘i n (Otl-\*g ﬂ\BL‘-(’L,»)(-&\L—\ S) T—/30YX+QSU51FL+Q§U\L*\lg\))
meg(ﬂw\pg(hvg — 3y TIS -mgm 2.6

— -
=D gs% of ’3)( — o x X D =P 23( = 5% )L/U‘:’ -
b l=S af LylxG=ing =P St=hf = NEYAR

/ Answer- ('I“"S)
(4 marks)

GCSEMathsRevision.com





